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Plot the points corresponding to the ordered pairs, state which Quadrant the points are in, and determine if the set S
represents a function, Explain your answer,

1}s= {(5r -1}, (~3,~4), (6,~1), (5, 3)}

....... 6_- . . . . ‘. 0 .
o P DU s
........ 3 R /
....... Jooiit S o
................ A %/;ML/J &L ~—CML(/'[/(;(5"7'7
——+—++—+3+T+—+—t++—+++ -
G6.4.2. % 2. 40@. x ’
BERRNE SREREEE peavae (572) ¢ (g 2)
p A A A Ak
..... .2 R
W
Find the x- and y-coordinates of each labeled point.
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Determine whether the ordered pair is a solution of the given linear equation.

3) (3,0) 2y +4x =12

2(0) +u(n) = ~ a2



Find three ordered pair solutions by completing the table. Then use the ordered pairs to graph the equation,
fy=x-6

Graph the linear equatidn by finding and plotting its intercepts,
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First find the slope of the line that passes through the given points and write the equation in y

6) (-8,2) and (-3, 4)
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Find the slope of the line.
N 1lx+y=9
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Find the domain and the range of the relation.
8) {(8: 5)1 ("'7! 5)1 (—51 5)]
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Simplify the expression,
9) (-322)(523)
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Simplify the following by combining like terms. e
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11) 7r + 12¢6 - 316 & 12r

Perform the indicated operation,
12) (~17x + 19) - (-13x + 3)
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Multiply.
13) (x - 5)3
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14) Mutliply.
(8x - 1)(x2 - 3x + 1)
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Multiply using the FOIL method.
15) By + 7)(3y + 8)
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Answer Key

Testname: EXAM2(04-03-2017)
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3) No

7ym=-11
8) domain: {-7, -5, 8)

; range: {5}




Answer Key
Testname: EXAM2(04-03-2017)

9) -15z5
10) 125

11) 19r+ 916
12) -4x + 16

13) x3 - 15x2 + 75x - 125
14) 8x3 - 25x2 + 11x - 1
15) 9y2 + 45y + 56




